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ASSOCIATESHIP EXAMINATION
CARGO LOSS PREVENTION
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~ Answer EIGHT questions only. Question ONE carries 16 mafks but this is not
compulsory. All other questions carry 12 marks each.
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1. "Fireisaserious hazard in transit sheds and port warehouses." How can this 16
fire hazard be reduced?
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2. Describe port procedure for treatment of uncleared goods from port area. 12
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3. 'Whatare the safe working practices governing the use of slings in hoisting and 12

lowering cargo loads?

4. G%H URTET TN 99 91 o1 9 & el | sard 6 Hm & 12
FHitai/aRar &8 Tl ST Gt 87

4. Inrespect of goods despatched by road transport, how can cargo shortages/ 12
thefts be prevented? :
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Give reasons for the following :-

a)

b)
c)

d)

€)

a)
b)

c)

Sturdy packages should be stowed in the wings and lighter ones in the
centre when loading a ship's hold.
In many instances cargo stacks collapse during unloading operations.

The force on the two legs of a sling to which a load is suspended is

determined by the angle formed between them.

The capacity of any bridge depends more on load distribution than on the
total load of the consignment.

It is important that the distribution of cargo within the container is balanced.
When stowing upper tiers, no box should be placed so that it rests inside
the edges of the box beneath.
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Describe shut-out cargo.

Describe wooden crates as type of packages.

What are the advantages and disadvantages of Intermediate Bulk"
Containers?
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Suggest what measures can be taken to prevent documentary fraud? 12
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What are the principal types of damages to cargo during stowage abroad ship? 12

I B BRI T, 1865 N (a3 Ugeh sl o e & 12
AT R |

Explain the liability of road transporters in India as governed by the Carriers'’ 12
Act, 1865.
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a) What are the benefits of Door-to-Door containerisation? 6 each
b) What are the basic packing rules for containerised cargo?



